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Q.P. Code :13524

Time: 3 Hrs Max Marks: 80
NB:

l. Question No | is compulsory

2. Answer any three questions from remaining
3. Assume suitable datq if required
4,

Draw sketches to justify your answer ; O -. .
1 ' i ' i ' ( : 10

. (a) Calculate the Conjugate point for the fqlll,ﬂwmg data,
Total Mass= 1000 Kg Ay

Spring Mass= 800 Kg
Wheel Base= 2.5 m %
Front/Rear weight dlsmhutmn 653’35 K
Front suspension = 30 KN/m

Rear Suspension = 50 KN/m

(b) Explain Wheel Wobble. and Whéel Shit 10
2. (a) Explain the Properties of ‘Rﬁll Cent 10
(b)  Derive an expression to calculatsy
Mmass system-of two masses sif 10
3 (a) Explain Under-steer and 10
®)  Explain No Roll suspestiog B [ncer. e | !
4 (8  Find Yawing vl '

I 'C(}farﬂle-f{:-! ing data, 10

a=14 “09131--
Ca= 00 N/rad

Explain the Roli geometry for any two Suspension system, 10

~ Derive an-expression for Steady state yawing response to steering input, 10
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